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FHTSE ?
3l
(A) ufeem (B) 3f&or @ @ .(D). faci
If you are initially facing North-East and turn 45 degrees to your right, what d]regtm;g;iyou acing now 7
(A) West (B) South (C) East (D)
aﬁﬁm—nﬁqﬁﬂmmﬁ,m—qﬁmmm@kﬂﬁ,ﬂqﬁwm ?
(A) cforafrm (By afor o) swaEH (D) 9T
If South-East becomes West, North-East becomes §outh and so on, then what will Es;t become ?
(A) South-West (B) South (YC) North-West (D) West

3, v e Bt o A oy

R s+ TH ot S,Tamﬁm%;s-Tman?%s@aﬁaﬁ%;S%TWWT%S’TE"FTW%WSXTW ‘

i s, T, A P i & s s e ), K A 918
=< .
IfS + T means S is the father of T; S — T means S'is.the sistetof T; S % T means S is the mother of T and
S x T meaps S is the brother of T, which of the folF@ving shews that J is the paternal aunt of K ?
M&Jj\ﬂf"‘ 5K ® KxMeL%)  (© KgM-L%l o ©) K%M-L-J
e (] [/ -
ue, S foreft amsﬁsrr%,ﬁqaﬂw%|ag,qrﬁa%ﬁ%,aﬁwnﬁ,ﬁﬁﬁ£rsﬁﬁa?aﬁ%nﬁqm%ﬁﬁw
' g 2
(A) fa B) foar @[C) Srs (D) =&

; -fg Alan, who is the brother-in-law of Lilly, 1s the sonip-law of Sam. June is the mother of Amy, who is the

only sister of Lilly. How S?nﬁ 18 related toS_Lilly ?
(A) Husband @/Father QC) Nephew (D) Daughter

ﬁuﬁaﬁﬁq%aﬁﬂéa@%ﬁﬁﬁﬂqﬁa@%@a@%ﬁ@m%l

Determine which of the given figures completes thEPain figure.
o

T BTN : 2
Main figure : ®
=== o
®
&) ® [\ <o (D)
fow T G 3 AT W AL forshey g fifvw | Q
e g ? O
N =)
(A) i : e € ), BE T
(C) mer : gHft D) =TT G
Find the correct alternative on the basis of the give@e!ationship. :
Fall : Pain :: ? Ve o A
(A) Fall: Step . (B) Laugh:Cry
(C) Food:Happy = . (D) Disobedience : Punishment
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7. afre o aTeaE I 3 R A T A |

Jed | A 3ifefa g R) oo | amaaf o
1 12600 +20% 10% W R
2 12850 +25% 15‘@ % S
3 12570 -30% 12% Y T
4 12200 - 10% 20%3) Z
(A) 18% (B) 20% o) 10% (D) 8%
Study the table and find the value for R. X
Articles Cost Marked Discount - 1 Selling Profit/Loss %
Price Price Price
1 12600 | +20% 10% W ‘&
2 12850 | +25% 15% © X
3 12570 | -30% 12% N v
4 12200 | —10% 20% Az
(A) 18% (B) 20% “J©) 100 D) 8%

8. U Tkl H, WA AL # At wand | 319 2001 § A= 2002 T & Hefoes o F
S, T [X 1 O T 3 S e & Sufterd gam | = feam e v wr e amafis
RIETT 5 BT G WTH Fe ST 1 G e | M
In a school, periodical examinatio every two months. During the academic session from
April 2001 to March 2002, a Class ent appeared in each of these periodical exams. The line graph
below shows the total marks obtaiped by the student in each periodical exam.

S STTaT T § STy Fongi

3&h/Marks

awaa 2001 mzom amw 2001 amat 2001 ﬁaat 2001 tmaﬁ 2002
Apr-2001 Jun-2001 Aug-2001 Oct22001  Dec-2001  Feb-2002

ST 2001 S SRR 2001 F¥ Saferer et i firemert ST 510 STH i1 1 i #1129

What is the percentage of the marks obtained by the student in the periodical exams of August 2001 and
October 2001 combined ?

(A) 75.5% (B) 78.5% (C) 73.5% (D) 77%
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ﬁ%@aﬁ%mm%mﬁsﬁaﬁm@mﬁ% ?
Which of the following words has its letters in alphabetical order ?
(A) Behind (B) Beside ® (C) Below

10. %= 3 v G (A, B) 7 IR 3R B x A 77 T AT |
Find the missing numbers (A, B) in the seriés',_and find the value of B X A.
26.39,52, A, 78,91, B \/

(D) Between

y

(A) 3460 ® 6760 & () 2570 (D) 5370
a-g., a:n; W, W, ? (Ej‘)
(A) Wit (B) mET (o (D) 93

Find out thg relatpd wqrd.

. &
. L
Root, Trunk, Leaves, Fruits, ? &) \‘
(A) Vegetables (B)-Branch (O S

&
. ¥ e T IR | (j
ﬁa;ara::aﬁaw:? (_J
w" (A) dier (B) e @ (C)" At D) Frelr
Find the missing word. =
Apple : Red :: Coal : ? Q
(A) Yellow (B) B 8\&? (C) Orange (D) Black
Heiferd vrsg g1a Hifera |
W:ﬁﬂﬁ::ﬁfﬁﬁ: ?
(A) ufsmr B) Wi (@) (©) (D) oz
Find the related wor {’
Map : Directions Bl )
(A) Procedur (B) Natural (‘Jfg (lelnstructions (D) Controls
ASERCEICEDE I )
ng term in the following serie[—sj
69, .49 u?
(B) 81 ® (© 1 (D) 125

few e forentt & &, -2 wotores o8 awifar 3 F, K i amar 2

P 1 e & : BSp 7 3 B, D a7 i, BIDHT3nl & B, D e, R4D F1 37 2 B, DH
MERARBIDH I, DA E | : DS it x ol
Among the bfovided options, which expression indicates that F jg the mother of K ?

Given the following codes : B5D means B is the father of D, Bop means B is the sister of D, B4D means

B is the bl‘Oth‘er of D, and B3D means B is the wife of D.
() FopiaXs By F3¥sk (C) F3M4N9K (D) FSK3M

*



af o, Py, @, o AL, S, 0 Fawtard she vy, <+ Fraaiard,

21205 15# 10 @ 45 % 15 F AT FTE ?

If “# represents ‘", ‘@’ represents x’, ‘8§’ represents “+* and ‘%’ represents ‘+’, then what is the value of

20815410 @45% 157

16.

(A) 20 (B) 24 s (D) 14
1. ﬁﬁwmwmwaﬁﬁuﬁtﬁnfﬁ%%%}wwmﬁﬁm 20 41€ - ;?;M—K
A — FEtm kil
10X 25 ‘ =%
| 20/17 [B\ 30 | 40 q QNI s
| 7\ 20
| / 20 —> i safi @ \
foper safer AT iR & 2 L)
(A) 17 (B) 10 © 7 (D)-15
Examine the given diagram and respond to the following questv
N @ ersons who drink tea
20 /17 {15\ 30 ) 40 .%Se ho drink coff
TSOns wno arink coriee
. 20 —> Persons who drink juice
How many individuals drink all t% l_:;)l
(A) 17 (B){b, L ©7 D) 15
@
18. ﬂ?ﬁwaﬁuﬁm %,-( gn,{
. 2. <t /\
Fxllmthe Q /t)//u !
(A) 20 (B) 19 ‘CD ) 15 | (D) 25
19. fr=fafea w4, mmwwﬁmmmwmﬁmﬁmmﬁlmﬁﬁwwﬁmm
916 3 375l a1 ST o T ST S W) | T Y7o ] TR |
faam ma w1eg : “GENTLEMAN” ®)

In the following question, you will find fclu.;]othcr words provided as alternatives alongside a given word.
One of these words cannot be formed usmg:the letters of the given word. Identify that word.

Given word : “GENTLEMAN? ©)
(A) ANGLE (B) GENERAL (C) MAGNET (D) GLEAM
VA T, e T




20. @mm%wm%mﬁﬁﬁmw%lw%mmww%:
\,a//:rﬁhﬁmaﬁr%zm

I FITET w1 e (ACLS) H AL L——

%ﬁwﬁﬁﬁWl

Frar-ATTi 20 7 60%

% SrfeaT 3 T ACLS SHIVE T8 2, A Tt i At e & ur s S

fX Srefiea €ty A = 31 W T1 R] A1 ATt 1 AT (eI o Il 1 1 ST 24

f% IrfieaT R ST A1 BTga 3 Tl Farat 1 g T €, H*Wh%ﬁ%ﬁﬁa?rﬁmam

R

m%aﬁm{w ﬁmﬁ%%%ﬁwm?ﬁs@mﬁm?

B.Sc. AT, ACLS wmifird, e 6 v, 1o STH | @R e e 1 4 o gl 8 o b A9

®mmoe AP o

(A qmﬁaﬁawﬁﬁm%s ﬁmn%gg}gﬁﬁmm%
(B) Ifiear &1 9u9 7€ R s 2
(C) mwwqﬁnw%%{qﬁmw%@ ° &

(D) Fola &9 & R 3y sate X
A hospital is recruiting nurses for its Intensive Care Unit. The cr%ﬁ lection are as follows :

Bachelor’s degree in Nursing.
Certification in Advanced Cardiac Life Support (ACLS}).
Minimum of 2 years of experience in Crltlcé@p i
Score of 60% marks in a competency-base 3

If the candidate does not have ACLS certlﬁﬂon, the’case is to be referred to the senior specialist.

e Al TR

Nursing Department.
g.  If the candidate satisfies all othe qu
the Director of the Centre.
Based on the scenario, what course
B.Sc. Nursing, ACLS certified, d 63% mag(s in the interview. Experience of 8 years including

4 years in Intensive Care Unit :
(A) Case is to be referred I%(Head of Nursm@‘)epartment for further review
l

(B) Candidate is not to ed
(C) Candidate is to be's d for the nursing position

ta.make a decision

21, Fafafeaa g, #ifsm | ®)
Find t t from the following.
(A) ACEC B) TYSZ O© WN (D) MNOL
e & Srieh gem g Ay | ® '
Find the next number in the series. @
144, 169 196 225, ? [j
(A) 208 (B) 284 w&gg),256 (D) 266

i st — ey, Tiha i el 8, 120 o9 T T 8w St et R H waeh S @ et S 1 e i
BN | 0 ) Tt S ek b o T A e # | 1 b B e o 80

In three containers — yellow, white and black, 120 marbles are placed. There are twice as many marbles in
the white and yellow containers combined as there are in the black container. Also, there are twice as

many marbles in the black container as there are in the yellow container. How many marbles are there in
the white container ?

(A) 30 (B) 60 (€) 20 (D) 40




D
wi i A A, B MR, C, D AEH R, B, DA GeH 2 A E w2 | D v Wit T 2 | A g w2 O
£

A FA R 2 ' _ e
Among five friends, A is heavicr than B, C is lighter than D, B is lighter than D but heavier than E. D is
Who among them is the heaviest ?

24,

not the heaviest.
(A) B (B) E € A (D) C
25, et oAt & o e g .
(A) BT &), A () e (D) et
Pick the odd word out from the given list of words.
(A) Dhaka (B) India (C) Kabul (D) Colombo
26, afa IS oy =2t & wie o for 31 3:00 ﬁmw)mam% 3t 3 1 emafy 7 H B,
i feraT Py ey o A e, =peh § 5 e SR 2
W weew @) wEim < © wiw (D) e s
If a plane leaves New York for London at 3:00p:m. (local time) and the flight duration is of 7 hours, what
time would the plane land, if London is 5 hours%gad of New York ?
. (A) 6am. (B) 4am. (C) 3am. .( 5 a.m.
27. AR HINT ; G)
Fo : for@ar 1 ? D ) x 5
(A) T & (BT 1T 3 (0) YeFE ik AT
Complete the analogy : @
Pen : Write :: Knife : ?
(A) Mix (B) Cut (C) Paint (D) Stitch
28. U Yish I 36 U % GHAIG T THAA § FH1el ST & 37K 6 39 qoaet o O a0 & Yip i &2ra Simar
& | G % gEd T Wil 4T WO &= e €, I ST |
(A) FIFHFB=H (B) s & (D) T
A cone is cut through a plane parallel to its b %e e cone that is formed on one side of that plane
is moved. The new part that is left over on r sitié of the plane is called ;
(A) Frustum ofacone (B) Cylinder W ©&J Cone (D) Sphere
29, frefafed § @ weel & Fi-8 S8 o7 § gAAE ? Lo
(A) FHA-WT . (B) TH-3F (C) Gu-T™ (D) S —as
Which of the following pairs of werds a ost(itnilar in meaning ?
(A) Hard — Easy (B) d [] (C) Happy-Sad . (D) QLQck — Fast
. +HEAIR FAED e o
30 T S I 1 ol s
® pac )
(%
(ad] P &
ok
— means ‘is the sister of”
x means ‘is the father of”
Which of the following means that C is the son @M ?
(A) F-C+NxM By MXN-C+F (C) M-NxC+F (D) N+M-FxC
31. - UF 39 i Fiud T § TIF Hﬁﬁ@wiﬁﬂﬂ'ﬂﬁf 6 ST | T Hieel 34 %l T Hel T 52 @ T
2 | 1 3e febe 31 31 3tmee wlie 2 S 2y §2_
(A) 5 ¥ 3R 2 36 ' o) (B) 33 34 &G 2 Y .;cr
(C) 5,3 ¥ 1 e (D) 43MINIAET L& -7,
The cost of a mango is T 8 each, while a guavgragosts ¥ 6 each. A woman spends a total of T 52 on these
fruits. How many mangoes and guavas did she but 2
(A) 5 mangoes and 2 guavas - (B) 3 mangoes and 4 guavas
. _(?) - ?Tf‘?fg?ef _‘l_n_({ { hva: Ly %) (D) 4 mangoes and 3 guavas
77 NI e e by I A T e
AV v B age70
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r@/@qﬁmmdﬁ%wﬁ30@26@%,%1%@%%?%%@1@1@@%3@%&%@

oy O & et 20 e A e S 2 | 7fk 9 w 8:00 5 AU werE I T €, A1 7 T M
S A 120 Fie 0 Rord 32 7 R Fma wg=m 2 @)

e (A) T 7SS (B) ¥4 8 =l (C) 7 5 & (D) 99 6 &

W A mountaineer ascends 30 feet at the start of each hourt then pauses to rest and slides back 20 feet before

4 -9~ ‘beginning his climb again at the start of the next hour.(}? he starts his climb at 8:00 a.m., at what time will
Q- 9'“ he first reach a flag positioned 120 feet above the ground'?

/

'l— -
3?': o200 (A) 7p.m. _ (B> 8 p.m. (@) 5 p.m. (D) 6p.m.
o _g. 33 IS = R S R T S o vite b SR § A e ke e |
£ s Choose the box that is similar to the box formed from tcl;@ figure of the sheet of paper given,
£ [ 2 ‘ @)
1 -
.&&
His ® “&'
D >, . 4
) of o e

: C
@ droré ayrfar § foee g € 2 &
How many triangles are there in the gi\@n% E]
=

@
(&P 28 (D) 27
<fjJ
O
(B) 19 (¢)) ES (D) U21

36, RuTC et § 8 saen # s fo 7 T ®

Find the next figure in the series from the given optionE:_

f ]
1 e N
m Lj EA_I lﬁ } E‘?
I 11 111 v V




aﬁnﬁw@ﬁmﬁwuﬁﬁamﬁm afg oy Xy w fieg 2

3%
Find the mirror image of given fi figure, if the mirror is placed at XY.
X
Y
o @ :
38, e sprer it 3 HC <]
Find the next image in the series. S &
°
O N
[ Q
2
39, TF 105 HieT welt W@t 60 FHHyHR i Wt ¥ werdt ielt et Yo, S 54 feie fi e |
T e =T T 2, IR R § e el i IR
(A) 2 fiFe, 48 TevE y 3 e, 40 BFFve
(C) 2Tz, 44 TFTZ (D)'J 3 fire, 48 T
A train 105 metres long travels at 60 ow [ong oes it take to cross another train 175 metres long,
running at 54 km/hr in the same direction ?
(A) 2 minutes, 48 seconds (B)\ 3 minutes, 40 seconds
(C) 2 minutes, 44 seconds 3 minutes, 48 seconds
40. @ﬁmé@ﬁ%% wﬂwmwwwﬁﬁ%@m%%a’raﬁﬁaﬁ
TS G & ofta 8 ffe a%%laﬁ: 31T3301ﬁf@1$0§% a1 9% =afth 39 TH R
e (FRpeyerer fa‘) g
Two guns are he ame place at an mteﬁvé}l of 9 minutes. A person approaching the place
observes that seconds have elapsed between the hearing of the sound of the two guns. If the
velocity of the s 1 330 m/s, at what speed was the person approaching that place (in km/hr) ? _
(A) 27 (B) 36 (©) 29 (D) 33
41, O I H, 60% TR 3 T T TR R, 30% TRERT & g O 96 8 3 15% qﬂaﬁﬁam%quﬁm
3t o S g & | 7 el 960 fER T & | e F 3 o T T S R R 2
In a village, 60% of families have a cow, 30% of families have a buffalo and each of the 15% of families
has both a cow and a buffalo. In all, there are 960 fam;llss in the village. How many families do not have a
cow or a buffalo ?
(A) 240 (B) 280 (©)) 200 (D) 260
42. O Slarer 9fd et gy % foft £ 6.4 1 1A sHear & iasﬁmwfrtrﬁfrﬁam% 3R oA £ 8 ufd et
o ST &, R 37.5% o1 BT 2 | A ares g1 o Www@ww%"
A dairyman pays ¥ 6.4 per litre of milk. He then addsﬁter in the milk and sells the mixture at ¥ 8 per litre,
the:eby mz;kmg a 37.5% profit. What is the propomon of water to milk, in the milk received by the
customers *
(&) 1310060 o B) 1:21 &1 (D) 1:20
2 R }s;(:;;“o}‘z';"‘
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43. 135, 171, 192 &1 5&ww gauade (HCF) F1a $ifem | ﬁ,\'*
Find the HCF of 135, 171, 192. 0 ) LSS
(A) 10 (B) 8 () 3 (D) 9

44. T S e i it SR 310, 550 3 728 B ferfora & o0 wHI 99 ST € |

Find the greatest number which when divided by 310, 550, and 728 leaves the same remainder.

(A) 222 (B) 2 (C) 212 (D) 22
45. Uk 335 Hiet st WGl 18 Uehs § U W I qR et 2 | Wermel ot e /e § s i |
2 o (A) 80 e (B) 67 ffi/ear (C) 110 Fepsfiyeier (D) 77 Fweiveiar
o™ ":% 4~§ A 335 metres long train crosses a pillar in 18 sec@&ls Find the speed of train in km/hr.
o' 7 6;(&)‘ 80 km/hr (B) 67 km/hr (C) 110km/r (D) 77 km/hr
46. AT 120 =afth wlafw 6 =52 w1 % ww w1 #7116 [ o offeR T R TR &, T 64 SAfRAT Rl Sfafed fore B
HTH HT A1 qTfer 3°T H &1 15 ot 3 ftew ST | ? ’
() 17 (B) 16%% (C) 1592 (D) 12°%
s If 120 persons can finish a work within 16 days'by working 6 ho y, then the number of hours per
i day that 64 persons should work to finish that sa@_a] job within 1 SIS :
\/,,, (A) 17 hours (B) 16 hours 0 (C)_15 (D) 12 hours
Q
47. T TEAH THACR ST 2 T TAAH T A T Tt % o 960 7T =1 T

TS (S12) STINT AT 2 | AT SEeHT T TG e @ 2

A dishonest shopkeeper professes to sell goods afiis ®est price but uses a false weight of 960 gm for each
kilogram. What is his gain percent ?

®
1 0, _2_0 lo iﬂ
(A) 434 (B) 67/0 \<|(C) 94A> (D) 5]7/6
48. U aTet Y shua: T 15/fRer o 1 i aeht 2 bR A T F R S i frem e
aTfer % 16.50/fFer &t Fma T T HSToT ST T T i 2
| In what ratio must the groc o types of piles costing ¥ 15/kg and T 20/kg respectively so as to get
a mixture of pulses costi 0/kg ? D
| (A) 5:7 BW7:5 \Q(C) 3:7 (D) 7:3
49. 7 9E9 AT 10 5 100 #e F Aqm) T Fhd € | 600 T A fam w F 14 T 3
20 .
N B) 30f ©) 15%= (D) 25

..3 take to build a wall of 600 metres ?

@ 6% () 20days (B) 30 days <[(©) 15 days (D) 25 days

< .
AP 50, 3 oafeRl ot 31T BT S 10 : 6 & ST I oA GRS 18 1 10 % 1 A A % 5,200 3 T 3,600 R
&, 0 IR A E 0 O
The ratio of income of two persons is 10 : 6 and@at of their expenditures is 18 : 10. If they save ¥ 5,200

and ¥ 3,600 respectively, their incomes are : I_’
(A) %6,000; % 3,600 (B) %9,000; %5,400 - (C) ¥16,000; 9,600 (D) %10,000; 6,000

. o
SL. 12% WIERY A W 3 a6 § 377 10,920 %memﬁ%mﬁﬁm ?
What annual instalment wil] discharge a debt of 710,920 due in 3 years at 12% simple interest ?
(A) %2750 \{B) % 3,250 (C) 2,500 (D) ¥3,000
SIS

3 7menorl men can build a wall of 100 metres in 10 days. How many days will 14 men and 20 women
5‘9 (éjn g
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26,4 2Ly2¢ (:;S\L 72 !
ue o6 e 2
52,  foreet € 2,550 SeT i & o 2 W feh et 2 o 3 sy e a0 e oy v & oty s 1(7,6“’
T AT T AT ST 2 | e oheet foheeft @i N ﬁ
A builder borrows % 2,550 to be paid back with compound interest at the rate of 4% per annum by the end i
of 2 years in two equal yearly instalments. Howhuch wil] each instalment be ?
(A) T1377 (B) %1,203 < © T3 (D) T1,275
53, U SRS | wﬁﬁmmm%ﬂ?ﬂﬁ@gg | a3 7 afirait o ftera sfiren 39 % 10,000 2 37 3
" sivaa i Fa £ 7,800 2, A e ¥ e R 2
The average monthly salary of the workers in-a workshop is % 8.500. If the average monthly salary of
7 workers is ¥ 10,000 and average monthly sal‘@% of the rest is ¥ 7,:3—6—(), the total number of workers in the
workshop is : - 2.
(A) 20 (B) 24 co o (Y 18 (D) 22 AT
54. % 6 AT Ay G 1 T 183 3, A WS ven g AT —— —A0 iy
If the average of 6 consecutive even numbers is 183, find the smallest numb: ‘m” 183 Qfﬁe%%k
(A) 176 (B) 194 ©) 178 (8181 "f_:é%
55. o RN ToaT 31 W A 150% T I HT 8 S 40% 1 5 20 | IR A T 1,600 2, A BT g
T T E 2 [ )
A retailer marks up his goods by 150% and off@ a 40% disco t will be the selling price if the cost
price is € 1,600 ?
(A)%2,500 (B) 2,000 C) 42,40 (D) %3,000
56. T ] 1 T 480 H S W TH ARG A 10% | 3¢ 30 T MG T =T A1, A1 9
20% T AT FHATT, ? o
By selling an article for T 480, a man inc 10%. At what price should he sell it, so that it makes
a profit of 20% ?
(A) T680 (B) %640 S (©) T664 (D) T600

&)
§7) 2=t i sl 3% W 10 %%qaa%%rﬁeﬂtmmm#ﬁm

Find compound amount and
(A) T10,509,% 509. ,309,T 309 (CQ) T10,609,% 609

d interest for T 10,000 at 3% interest per annum in 2 years.
(D) £10,409,%409

\

58. T A :
Sfter sl UrEI(E6] ST T .
I e \ 2e0 3°
- woee * 37 -
) T
The main goal of the Human Development Indéx(HDI) is to : xS 4_‘5,(.1 Sy
(A)  Assess the overall well-being and qualityof life of individuals 1 T (Y
(B) Evaluate environmental sustainability 24 1("(;3
(C) Measure economic performance ] Xirg }18 480 %‘;Q -6V
(D) Track technological advancements - % 1 S i 7}— 6
' A 5
59. T HEC I Helr Frya | © ”‘%ﬁ “4}5/‘2‘,— ST
(A) WW) (B) ST g T
(C) =

(D) IS faer (Frhietn)
The yellowness of the Taj Mahal is an effect of

[ . \ v
(A) Allergens Py , (B) Pollution qo 4_?? 67 .¢ 16 ¢
T T kY A R B dcu AN -yt T S ‘
INZ.24 -;s p [~ Page 11 of 24 Ko |
X 2 585 ) Ko X MO pJLe
o) \ L\‘:O .1\4;} l\l”"%‘) ot axd 0 \'tz %QY |
) -+ )bo
s> F e Ve

S e i T
/?&0 LB (—?{xrq

|
TR ST e k
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60. T dgfer wEeT el feua 2 2

(A) T (B) & () foeeft (D) =%

Where is the Indian Institute of Petroleum located ? ; .

(A) Amethi (B) Dehradun (C) Delhi (D) Chennai

61. AT Y TS TR 2

(A) RER (B) 3T (C) HifeAT (D) TETEEl

What is the capital of Nagaland ? . . .

(A) Itanagar (B) Agartala (e Kohima (D) Guwabhati
/g. 2021 # COP26 SeraTg FFicH 1 A fora 397 3 6T 2 ®

(A) W@ (B) TS (C) Z3F. (UK) /] (D) FHTH

Which country hosted the COP26 Climate Conference in 2021 ? '8 )

(A) India (B) Canada (C) UK o/ (D) Afghanistan

s

63, aﬂTﬁﬁiW—ﬂﬁ‘WW’%ﬂWWﬂEﬁﬂﬁ@W%%ﬁ&

tA) &I HAed , <
(B) eHf wATCT \@'

(C) FaT FTshA 3R W HoTerd

(D) g HATSH (5)
The quarterly newspaper “Cyber Pravah™ is an initiaﬁv%d by which Ministry ?

(A) Ministry of Defence
(B) Ministry of Culture
(C) Ministry of Youth Affairs and Sports w

(D) Ministry of Home Affairs °
64. ¥ 3iTele Sedte et Fr TR ST ERTT S et FT AHAT AT T E |
(A) TEERHFEAT  (B) ©) ¥ < (D) wTgaTEET
involves online harass where the user is subjected Eo)a plethora of online messages and
emails. -
(A) Identity theft (BN, Phishing (C) Botnets (). Cyberstalking
65, et S e 3 for 2021 3 R e wifty R & A R T o 2
(A) o 37Emg, (B) =T oFert g '
(C) wfT T (D) AT TGS .
Who wa wth obel Peace Prize in 2021 for the efforts to pr@éct freedom of expression ?
(A) Ahried (B) Greta Thunberg
©) sa and Dmitry Muratov (D) Malala Yousafzai
66. TR i TR S Afterelt % Raeih Sawra S T 1 @ U o forg Sfash Svidier w
T yreg @ uftaTf foram ST @ 2
(A) e ATgeq At SR ®)
(B) THEE FHieH ]
(C) g AR ( .
(D) TSI + SAfeamm SAiater )
What term describes the global movement for gender equality, womén’s empowerment and the elimination
of discrimination and violence against women ? ®
[ (A) Black Lives Matter Movement u
‘ ' (B) Feminist Movement =
(C) MeToo Movement &
| (B)- LGBTQ + Rights Movement @)
WEB L~ T Pagedlof 24 ) s ]




67.

68.

69.

70.

71.  EI IR A 6 (FEEH HTE T; ) o TSIt R R 2
(A) 7 gt (B) ISTE (©) T (D) FE
What is the capital of the Federation nited j'ib Emirates ?
(A) Abu Dhabi (B) Shagjah @-) (C) Dubai (D) Fujairah
72. HHATRERT e ar E 2 ?5' ]
(A) TSI W@ “ 56 (C) e (D) 3yt
Who has human rights @)
(A) Heads of veryone (C) Students (D) Criminals
73. I ARAE A e fow (o) FT 2 2
(A) STom (B) fErE
(C) =Ted T ER (D) Twifesw (@) SR At
What is the theme of the North Indian vocal “T@mi” ?
(A) Inspiration <] (B) Rebellion
(C) Desire and Love () (D) Romantic and Devotional
74. B HAFOE A FATE 2 Q
(A) Afewmmafear  (B) fom ® (¢ tReaRffe (D) ferif
What is the scientific name of Green gram ? D
= f{\_)_ ~I_V£cEc!i_c?§f)_s_a_ti\ia_ N _(1_3) _Vigna mungo &= (C) Manihotutilissima (D) Vignaradiata
N2 R e P 130124

gﬁgqmﬁqm‘rﬁaﬂ’%é@%aﬂ?%?

(A) it JwEw (B) rufy =

(C)  TeltsTY &M (D) 3T, AR
Who is the author of the famous Indian novel ‘Godan’ ?

(A) Munshi Premchand (B) Arundhati Roy
(C) Rabindranath Tagore (D) R.K. Narayan

2016 3 R 3 Yot T 3 ot woft T 21 2

(A) TRV SITefl- (B) frd e /,@ (©) Ffendarms. (D) FEEE
Who was the Finance Minister of India during 6 demonetization ?
(A) Arun Jaitley (B) Amit Shah (C) Nirmala Sitharaman (D) Narendra Modi

esirefrefirdt it i 1 3 Fod R s 2 2 8
(A) I AEER  (B) I WS @ © T SRt

Who is credited with the discovery of radioactirl ?
(A) Albert Einstein ~ (B) Ernest Ruthe:rfocfg\..i (C) Henri Becq@& ;) Marie Curie
o

SITE 3T Haelsl F12 2 ®
(A) O IRHHA ooy wrmufEe (B)

(C) TS T Seifarei TauiHe ( s
What does SITE stand for ?
e

(C) Satellite Instructional Television Experi

.&gﬁm

o

CEICEERSEIE]
CAgIEEERGE iR

(A) Source Instructional Television Experiments &S llite Instructional Television Education
) “Satellite Institutional Television Experiment




5.

76.

Vi

78.

79.

80.

STt B Wiy ek SeeA A R 2
b . (B) amTET A Ea
(A) T =,
(©) g @i | @) X
?:)]de; lllevolution is related to the production of : %} o catitesand Koy

ulses

(C) Precious minerals ) ) Jute
HIT ST fory T rd seft 2 9 C s D) sufeT
(A) ufimn (B) St anifar %) st fera (
The Congo Canyon is found in which continent ? _ )
(A) Asia (B) North America H8) Australia (D) “Adrica
Pt 61 et & e o i 2 ©
(A) e (B) sttt (C) garm © s&.(D) EEI
Which disease is caused by the deficiency of Vitamin C?
(A) Scurvy (B) Beriberi (C) Rickets (D) Pellagra
ﬁm%mwmmwm%ﬁmmm@m By ETE 2
(A) o1 ferdiz Yewr iy @)
(©) < Rfwge ) Uil
What is the name of the world’s oldest man w t the age of 114 years in April 2024 ?
(A) Juan Vicente Pérez Mora Eugenie Blanchard
(C) John Tinniswood . & ) Yukichi Chuganj
frarersft o o6 e vy o o N L]
(A) FTTE o ) S
(C)  rTE faersit ) SeTeE ettt
Who established the Khilji dynhsty 2
(A)  Qutbuddin Aibak (B) Balban
(C) Alauddin Khilji % (D) Jalaluddin Khilji
BILEEIE: I b TR ?
(A) e gime ®
(B) ' <]
(©) U SISeTt 1 Gefifee sy
(D) T 1 T o ot 2t =t e vy FET
What is the purpose of encryption in cybersecurity ?
(A) To speed up data transfer
(B) To delete unwanted files D
(C)  To compress files for storage 0
(D) To convert data into a coded form to prevent ufiauthorized access
%Wmm@mmﬁq,)mg@mw 29
(A) (B) =gt
(C)  arfimes <ot (D) 3Feetiar
Where is the headquartersg of the United Nations Pop
(A) Geneva

ulation Fund (UNFPA) located 2
_ (B) New York ..
EQ“?{ashmgton DC (D) Atlanta

R e L

R J‘;J@TM




8y e e aite faerr wa (S E) o T e feemr o w2 0
(A) TeEgIE R srsfeaeenTatt o T o oI ST A e
(B) am%sﬁﬁmawaﬁﬂﬁﬁq_ REEER: Bl
() weerdii faet fd s _
D) srifoles 3t g ST B QT A ool Aiftert B mra 3w
In what ways does the Organization for Economic Cooperation and Development (OECD) support
economic development ?
(A) By imposing trade barriers to protect member countries’ economies
(B) By improving exchange rate mechanism in m&f@ber countries’ economies
(C) By restricting foreign investments in member,,tf ntries
(D) By promoting policies that improve economic( and social well-being
. w ° &
83, o et areit 11 FoRTt 1 ST O A T AT Fn e 2 \
In which year did the Apollo 11 mission successful\ﬂand humans on the%,
(A) 1970 (B) 1972 [Tf:) 1969 ) 1971
84. Trmferiias # & FH-a1 Fm e Ieg (deneme) B Ul FAT R ?
(A) %@ﬁﬁm%ﬁaﬁmmm@@éﬁ%@% T ST TE T AT ST F
TR AT Rt @, =R 3k aftel foheft oft gl o]
(B) % SETTIVEE T R Teeel e Tt i 9 &
(C) TE =1 ufshan & fress g onl =i o7 o= ERIEIGIES!
(D) ¥E Tgjfereh e & S WehreT =ht i o T T % TR T ST FAT 2 |
Which of the following statement best desc econcept of quantum entanglement ?
(A) It is a phenomenon where partic ain connected such that the state of one particle instantly
influences the state of another, regardless of t‘t’:g‘distance between them.
(B) Itis the effect of gravitationalayaves on subatomiic particles.
(C) Itis the process by which pastic ¢ heated o extremely high temperatures.
(D) TItis the theoretical fra xplaining the Béthaviour of particles at speeds approaching the speed
of light: Lc
85, TR T éﬁﬁt%&%ﬂﬁﬁﬁﬁ%mﬁﬂﬁﬁm%mﬁm
%o (1)
(A) df (B) el g (C) el rggeh (D) =31 g
Which Schedu the Indian Constitution contains provisions regarding the administration and control of
Scheduled Areas and Scheduled Tribes ? G)
(A) Fifth Schedule (B) Seventh Schedule (?) Fourth Schedule (D) Sixth Schedule
86. Tr=fcifiae & & e R iR e <6 frgia witafea fam 2
(A) w3 (B) o ((C) = (D) =
Who among the following propounded the ‘Saptangég".'rheory of political rationality ?
(A) Manu (B) Tulsidas l(ﬁ:) Kautilya (D) Charaka
87. 3L NG % Joel T I HT el TR 9 B
(A) oo @ (B) forem wee ({QC) [ERIERIAT (D) Tererm wigeft
What is the Uttar Pradesh Upper House known as ?
(A)_ Vidhan Sabha  (B) VidhanMahal - (C) Vidhan Parishad (D) Vidhan Mandali
wVZ.24 T
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88.

89.

90.

91—

92.

93.

94.

CoBRA e festel qferer et o1 wes ordr arforarr s & | e 21 3791 2 2

(A) HHIE T B TR (B) TS deet B Refefed T

(C) ¥z srerferag Wi e Yawe (D) Tz wrerferard R et TR
CoBRA is a special operation unit of the Central Reserve Police Force. What does it stand for ?

(A) Commando Battalions for Resolute Action ~ (B). C Commando Battle for Recoiling Action
(C) Central Battalions for Rapid Action (D) Central Battalions for Radical Action

TIRA & Ted W W 3 (VAT) fofar e @y febarm mam 2
In which year was VAT introduced at the State level in India ?

(A) 2001 (B) 2006 (C) 2000 (D) 2005
TS TH.UE, A e FHaaTae % 8N, a@%maﬁtﬁuﬁrﬁ S o
=t |

(A) CIF&URW  (B) qwaﬁ%ww’ (©) FOR%}T‘N (D) FOB # U T
As per the IMF Balance of Payments Manual, tl'>e import and rt Of goods should be presented on

(A) CIF basis (B) Ex Works basis U ©) @ s (D) FOB basis

R HieT 1 7= 340 fred weifom g L

(A) THatem s 6 (8) faw s

(C) U e dan S \Q@( ) frw @t s
l . .

Article 340 of the Indian Constitution d
®

(A) Election Commission (B) Finance Commission

(C) Union Public Service Commission ® (D) Backward Classes Commission
AR | Ve HIE (@ . <]

(A) TFEA-ATSHIETET A &

(B) TSuHTH 3= &

©) a‘a’éﬂﬁwﬁ% aafwmm@%

(D) LRSI

What is the r’ in India ? [j

(A) An ted-by Naxalite-Maoist insurgency

(B hi curity zone in the capital ; ®

( ton known for its tourist attractions

(D) orridor for international trade

frefafiad 7 9 #1- ﬁwmﬁﬂﬂqﬁwﬁaﬂaﬁ’ga@ﬁm#%?

(A) Fish (B) 3¢

(C) w&=a /] (D) dfa

Which of the following languages is not included i i the Eighth Schedule of the Indian Constitution ?
(A) English ® (B) Urdu N !

(C) Sanskrit J ® (D) Tamil " !

T Ffer A ¥ S B E 2 ] '

(A) =mrg (B)— e 0 () == (D) AfFaTH

Who is the author of the famous work “Tantralo ?j} ?

(A) Banabhatta (B) Bhavabhuti : (C) Dandin (D) Abhinavagupta




. wmﬁw%&ﬁrﬂ@aﬁmw%? @ @)

(A) 12 S (B) 8 fiewar (C) 24 IFTER (D) 209

On which dage is International Literacy Day obsérVed ?

(A) 12th January (B) gth September ,j (€} 24% Sotober (D) 20" March ' 37

- o]

96. ﬁwag?ﬁa%eﬁgém3 TSt fé ot T g9 e 2, Faeht firre o1 w8 7 7:45 = o oA 2t o ’/_3

(A) gfégor (B) Iw-ufsm (a? (C) Itd (D) &

A clock with the hour hand pointing West at(&) p-m. will have its minute hand at 7:45 p.m. pointing

towards : @ __] ¢

-3 4823t

(A) South (B) North-West cé (C) North-East (D) East 040 2 13,4
97. A 6 31¥er, 2023 hI TR o, Y 6 31, 2024 %1 HHTE #7 F-97 f o7 2 =

(A) HTerER (B) dmHa® (C) wiHam Dy “?@ 7 Gt i

What was the day of the week on 6t ‘April, 2024 if 6" April, 2023 was Thursday,’ o40+8

(A)  Tuesday (B) Monday - (Q Saturday day @ 6 t/&f
98. wﬁaﬁﬁ%ﬁ@mﬁw%ﬁawﬁﬁuﬁg@ﬁﬁqmﬁzﬁm ST a | 'j} *

fear e . (45, 2579) 5 <

Find the set of numbers amongst the four options that is most like the\§et given in the question.

Set given : (49, 25, 9) ' A !

(A) (39,26, 13) (B) (64,27, 8) ® © 59765 (D) (36, 16, 4) |
99, AﬁBWWéﬁqu,‘%ﬁ}ﬁﬁT%ﬁﬂTﬁh 1" A I 789 710 U B, A T e wohm Hifir :

/ ! ., W ‘

,Qr 3 g2 = R VYR A

(A g (B) ==RT g drar (D) @rem '

A introduces B saying, “He is the husband.of the granddaughter of the father of my father.” Considering A

as a male person, how is B related to A "{

(A) Brother (B) Cousi (C) Grandson (D) Brother-in-law
100. 9IS HERIT % Uk URER H, A B aﬂ'{C,@ﬁTﬁ%lD,CWﬁﬁT%aﬁ'{E,C?ﬁﬁ%lA,Dﬁﬁ?&r

YR HeEfea ® 2 <

(A) =& ( - (Q e (D) wisft

In a family of fiveafiembers™ is Bs sister and@is B’s mother. D is C’s father and E is C’s mother. How

is A related to D ? Q _

(A) Daughter-in-law 9$1B) Daughter @ (C) Granddaughter (D) Niece
101, feq e foeredt # 4, 78 3 A Bifsre S fow o 77 3 w2 K -a®

oo o - 2ferw o : 2 &% \L& .

(A) TS FHY : Meh &) (B) HEWH %Y : @r-@ B CH

(C) FFT: TR (D) SR T : HR J, : i

From the given options, find the pi-lir which is similar to the given pair. Er— Dy WAt (AW

Given pair :-  Davis Cup : Tennis & o

(A) Ryder Cup: Golf (B) Federation Cup : Kho-Kho <6

(C) Cue Cup : Snooker (I;)) James Cup : Car Racing




102, SFEHT 9 1 IS |
Find the dissimilar term.
ACA, BFB, CIC, DLD, EOE
(A) CIC (B) EOE (C) BFB (D) DLD

103. =R FEH - L, M, N 3R O, U aniaR i1 & IRl 3 arer 1 371 48 0 48 & | L, M & 21 ardf 31 a1
RN, O % 3t arff S a1 R | L 3 ek 2rff s e 2 2
Four colleagues — L, M, N and O, are sitting around a square table facing outward. L is sitting to the
immediate left of M. N is sitting to the immediateiright of Q. Who is sitting to the immediate right of L 7
(A-M (B) O A© L (D) N

104. ﬁamﬁmw%m%éﬁuﬁﬁqwmﬁﬁwqﬁwaﬁﬁmﬁﬁwﬁrﬁﬁwmwﬁﬁm

&
[ ™A
wwap|
"= ni?
o i3 B
TSaC \°§
- b
= * 1]
% 6
OGE D I
A 25 L
TS D B 3EATA o IA1E o G \G‘I%CB
(AL 68.4° (B) “©) 782° (D) 58.2°

L
Examine the given pie cha&g’arding production-of steel by five states and answer the following question.
o

O

State Bg;‘f
| ®
b State C

E 277 State D
e
State E@.

What is the central angle that corresponds to the pr‘c_'j'duction of steel by State D ?

| (A) 68.4° (B) 72.4° A () 7820 . (D) 58.2°

|
| |

f 105. 3 4200 T 30% + 2400 FT 35% = 4200 FT x% B x H 7 719 Fifv |

(A) 40 B) 50 “ (C) 45 (D) 48
.............................................. e P AL
| IVZ.- y & = ?30 & IRMIEE&?% - t{Z“ﬂ‘* 243
i s 41 T \ W
% 5 o £ T
b5 e TR S
R4 1—9/\!/0 gud B |




06, et foen T T T ek R 3 SR i wfrera ﬁm%laﬁw&mﬁ@mmf 42,500 2, 4T
=1 =7 3o i siR FrefafEd 5w 1 SE i) ’

ufiar &1 s8d
weres faf @)
129‘/0 ‘ i("]
- 25% )
13% L 2 ” _
BN L RS e
- . Ye,
Qe 18% i K \1 9
o] 5
23% oI \ q"),‘_} 5‘/
S 2w 2%y
* 3 e KL s

75 (D) %24,650

(A) %26,580 (B) %27,860 ¢ %
The pie chart given here represents the domes i \%9 iture of a family in percent. Study the chart and
\income of the family is ¥ 42,500.

ifg -y M'b’—l—s
mﬁm%hﬁﬂﬂwmﬁmﬂﬂﬁwgmmw{
; e 25"

answer the following question if the tota

Expenditure of Family

Provident Fund

House Rent
18%

Education
23%

After deduction for Child Education and deduction for House Rent, the total monthly income of the family
remains :

(A) %26,580 (B) %27,860 (C) 25,075 (D) %24,650
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55

\ }

4} c \‘f ’.‘\( i uw— 5% |

ot e —%g ’%?‘f '1 100 i
i

|

A0 e

“e | N
& L0 %PQRI}’WQR%‘TW@WPQ?@TW%%%3MW%IgﬁTPRiﬁrwﬁﬂWPQEﬁng |

AN

5 % 14 %eft aiferes & | uRfer 55 81 2 | Pt PQR 1w w1 ofetT A €l Fe? P
(A) 113t (B) 143 (©) 10 & 'de([lz():) by 3 cm. Length of the |
2 In triangle PQR, length of the side QR is less than twice the length of the s! The length of the sma]le:{
155 side PR exceeds the length of the side PQ by 14 cm. The perimeter 1S o G |
£2 side of the triangle PQR is : D) 12cm |
(A) 1lem (B) 14cm (C) 10cm (g8 ( o
g, 108. T P T, CAR 1 3118 3w i oy smar % 1 3eft e 3 FUR o1 8 fere i i S
gg‘f % In a certain language, CAR is written as 3118, H6W will FUR be written in the same9 3?%1 ge .
(A) 65900 (B) 62118 (C) 37912 (D)

109, 0 STt At aitere <er & aAf A w35 et o e 3, 3 0% 0 45 foere H AT 55 e
T e 8, ST Tl 3 st Bl et gt 80 et Ao _

(A) 49 foret wfer sey (B) 50 forrft wfey s C) (©) 48 Tt gfa wer (D) 47 Mgﬁw .
What is the average speed of a man who travéld between two cities, govering 60% of the distance in
gg lngI;I})utes and the remaining distance in 55 [mjnutes, where the t&iistamce between the cities is

(A) 49 kmph B) S0kmph . &% () 48 (D) 47 kmph
. THH Fe Fa it | LLING)

Find the dissimilar number.

2062245120 540 |
(A) 120 (B) 6 ( (D) 24
. I MONKEY % OQPMGA i ZEBRA I BGDTC % &9 # #ifed a1 SmaT 2, af DEER %1 {8 TR
Hifea feram s 2
If MONKEY is coded as OQPMGA and Z S GDTC, then how will DEER be coded ?

(A) OQGT (B) BGG (© FGGT (D) GFFT
112, 4§ ored e 3 3¢ At s 30 gy St i B4 o i n o 20 P e i o e 1 o
0 TR 10 foreft e | i i gt swR, 33 20 fioft 1 gt 1 | v e & e R e € 2
‘q:;‘_ (A) e (B) ©) W (D) T
From my house, I walked to the North. Fhen I turned West and covered 20 km and then covered
~ 10 km turning South. Fipall ing to the East, Ij covered 20 km. In which direction am I standing from
my house ? ~Q
(A) South9 West E@) (C) North (D) East
(13 s 213,36, 80, T I |
§B Complete the seni 6, 80, s
\ % (A) 1 @ (B) 120 (©) 150 (D) 130
9. H 114 v

fﬁ KCE R ferrt ot s gt 2, forent wre Sitehy S ot Tew | Wz ae % R 8 of dew e ¥ ey
It Te o I, S e faene aveemE oft @ | a1 .'Waﬁ-ﬁ%aﬁxqa%@ﬁmhﬁ%w
RISl o ST AT il @ | @ § qeRlt i @t fouedl S AT S @ ofR et & S R | ohe qur v
IS QT BT STEd 9T SE SIE Ut ugeaT § | AR U anTe % U ST SIS s 8 S, a 3w 2w A
afe-fe rer S | gfere fofer e 3 v ek Wit gl et oft & R g qf & ¢ ot remeten

IG 7 et e of waRd | &)
114, 1t mrar ST ah o 379t & 9 [
(A) Eoell 5 STHT =2 (B) YIR-YRIET BT
(C) TEeeI-TedT AP BT @) (DY TR A ST
115, TR AT FAGE ;
(A) qHT T (B) ZRTHT (Cy HeRTSIEAT AT (D) T HHAT
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T e _

116.

—
\3

118.

119,

120.

121.

5*$?EF€Ungaﬁﬁ
(A) aﬂvﬁn@q,:;iqﬁ?

© ﬁ?@gﬁmqﬁqmw

WWWWQ
(A) e TRIT T T A R 9
(©) q?ﬂ?ﬁ#ﬁ;ﬁmﬁ

EEEIEE: EEo
EW“W’W-EWHW%WW:
- (B). @&t eran

ST T T a4
(©) U st qat g0 Fwar

e (B) STETSi & St °
SR fees e e e v R 2

(C)y I dew (DYl % T T

<) ®) o Tma T v

8(8) EISCIEIE R

[ (D). HEE T TR g

N

@" (C) wA D) @
(C) =T —garet (D) &

® @) ww s awn

<] o m@ﬁaﬁm@@ A e

122, ‘FXMT F =R a3 o O
(A) ST yaTg B) TEgEwEs ) (©) W% (D) FfeFE T
123. %ﬁmwmmwﬁm%? @ 3|
s S A
124. S =1 qafoamh 2 - = .
widl i (B, Sl Q0 Y (D) =f
125. ‘AT 168 § -7 AT 2 2
(A). wifei (B) wafeim (©) i D) TR
126. Wﬁﬁ%ﬂwwmw&m@ TgEHICTT
(A) rem (B). @maT % 1 (C) = (D) em
127. A 33T & FTe | A dergr e P i wdrsu |
(A) R (B) A4 O () wfrw g
128. ‘U’ 37sg I faemor e L
@) == O (©) md (D) ST
129, ST — STE” -y WET -0 o1 e iy |
() Sw-F () AW TR () T (D) W -
130, ‘Fg@rE T d @@ aaaFEey O "
-~ (A) 37l 9 (B) €M (©) o D) W
131, TR o A A R | e e w0 N
(A). TR (B) &% ©) fa D) F=EE
132, e 91z o1 AEATI € : .
Gy S ®) et (C) el (D) Sifeat
133, fer FeE FA@HFAC? |
= (A) 3 (B) LS (C) IrErsieh (5 S




134.

135. Frgamm § B adm Ea a2 @] i o
(A) HERAITTG @I <] ®
(©) Fel @1 faw o | ) (D) e fasrett e 327
136, S =T FED IR O
(A) ST o SRR ST @ (B TR
(C). TR A 0 (D) =&
137, Frafftaa & & 991 762 78 78 @ 2 2
(A) & (B) Bzt @) (C) &= (D) T
138. Frefofiad o ¥ w8 qoam Y168 o1 99 I : =
(&) T (B) TIF © ™ e (D)
139, Frerferfiae # & e are i <ot fra a6 R TR 2
(A) T T AHU @R 4 (B) WY 2l
(C) "ETAEHwRI (D) we
P RN ———
(A) FRTEEE|  (B) FHTHFR O (o mwp? (D) FHTHEER |
141. mﬁvﬁwwﬁm@raﬁ?ﬁwaﬁ% e T F ISR ?
(A) T (B) wd=m S&a (C) HsEd (D) Fhd
142. A F AT (31
(A) @t (B) (C) et (D) S
143. ‘uvidl YR H AHTE R :
(A) F% g © T (D) T
144, “fSraeR =i SHER A 3
(A), R o c (C) &N (D) TR
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